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Time: 30 minutes Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. If your information on the pre-printed label is not correct,
please inform the invigilator immediately.

3. For each question, you will be asked to choose one option
from the list. Use a pencil to circle ONE answer only.

4. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

5. Diagrams in this question booklet are not necessarily drawn
to scale.
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1) ﬁ—ﬁ%%ﬁ'ﬂﬁiﬁ o [40/0]

Count the number of flowers.

‘—-I-I-I-I-I-I-..

2) MFEAE, RHERERENF [4%]

Find the missing number.

3,4, ,6,7,8

®: ®: ©:
® ®
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3) MFERE, HKHBEFENEF. [4%]

Find the missing number.

9, , 71,6,5,4

®) 9 6 © 10
Ok ® 3

4) 7 +3 BB [4%]
Whatis 7 + 3 ?
® 8 B 9 ©7

(D) 11 (E) 10
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5) 8-2 %7 [4%]
Whatis8-27?
@A) 10 5 © 6
© 7 ® 8
6) MIFMRE, HHRERNEZRE. [4.5%)]
Find the missing shape.
OAOONAD2ZAD]

.
------------------------------------------------------------




7) NMNAFEAEEREMIEER, EFKRZDE? [4.5%]

Tom has 4 oranges and 3 apples. How many
fruits does he have altogether?

® 1 ® 7 © 6
(D) 2 (E) 8

8) MWEBIRNMER, WIzT 44, BERTZDA? [4.5%]

Mary had 9 candies. She ate 4 of them. How
many candies are left?

® 4 ® 9 © 6
(D) 5 (E) 13
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9) ElFHEZIER? [4.5%]
How many fishes are there?

‘—-I-I-I-I-I-l.~

10) SHHERKIEE. [4.5%]

Count the number of apples.

‘-I-I-I-..
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11) HHBRERNEE. [5%]

Find the missing shape.

‘-I--I-'I--I--I--I--I-~
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12) RERE3IEN. 7TEXAMSESA. 2EARX  [5%]
HEHZDAN?

There are 3 dogs, 7 women, and 5 men in the
park. How many people are there in the park?

A) 12 (B) 8 © 10
(D) 13 (E) 15
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13) BIHEF=ATHEE. [5%]
Count the number of triangles in the picture.

------------------------------------------------------------
*

A
V

-----------------------------------------------------------

(D) 11 (E) 12

14) HHBEF=AFHEE . [5%]

Count the number of triangles.

VAV“
M

A) 13 (B) 12 © 14
(D) 11 (E) 10
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15) FsRARNEZE LEREF? [5%]
Which number should be put in the question
mark box?
1|2 |4
315
o) ?
A) 13 17 © 19

(D) 18 E) 14
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16) EOIHLFLRBES Mk Q) ? 6.3%

How many should be used to build the
solid below?

OF: 7 © 5
(D) 6 (E) 13
17) WRIFEHR1E, F18AFHEEEE? [6.4%]
According to the pattern, what is the 18
letter?

EATEATEATEA..

@ R ® A ©T
O ® H
B
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18) 17 +17-16 =7 [6.5%]
A) 20 (B) 35 (©) 18
(D 34 (E) 28 (F) 17

19) /MBS 9 R, MiAIRIELE MK 2 K. RI= [6.6%]
AERAHES DER?

Tom is 9 years old. His sister is 2 years older
than him. What is the sum of their ages?

A) 20 (B) 11 © 12
(D) 21 E 13 (B 7

P10




MathConceptition 2018

20) UTH—EZEEERREEE (12 BFF [6.7%]
BB 1 B | R
Which of the following shows the time of
“1 hour after half past 12”7

End of paper
£H5

P11
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1. C
2. A
3. D
4. E
5. C
6. C
/. B
8. D
9. B

10. E

11.

12,

13.

14,

15,

16.

17,

18.

19.

20.
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